BriHeceHUe
MHOYKXUTeEe/ISI 3a 3HAK
KOPHS







HanguTe 3HaueHUe BbIpaXKeHU S :







Y e e gt e i
BhIPAKEHUU

V50 u 62




[lepenava u 0ObsicHeHHE
HHPOPMAIIH

J48 =16 -3 =416 - V3 =43

~104/0,02 =100 - /0,02 = /100 - 0,02 =2



PelieHvie nprumepos:

V12
V98

Jas

V32456

1
——+/12
5\/ 5



[TpopaboTKa comep)KaHUs TEMBI.

24,




vii. CLdMOC1021C/1IbHndn PpdaU01d
(oOyuarowasn). (7 munyT). [TpemyecMoTpeHs!
3a/JaHHS TPEX YPOBHEI ¢ MOC/Ie IYIOIIe 2

IIPOBEPKOIA.

1 ypoBeHb: /80, /125, —/3)2, V943
: V20,—/3x2,4/30065, \/27¢8,

YPOBEHb:

3
 AOBANE: J1323x%, /945, /254263,
V1444363




1
VDOREHR'

4 % /5, 5 —yx 3ax+a

2 YPOBEHb:

2% —xx 1062 * —3¢% % /3

3
VDOREHR'

21x% x~/3,  3a®x+a,  5ggx /s,
12(—a) * (—6) xVas = 12as = \/as



